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Candidates are required to give their answers in

their own words as far as practicable.

1. Answer any ten questions: 2x10=20
@-(IT WS Ara Ted WIS ¢

a) - What do you mean by a hypothetical
proposition? Give an example.

GBI I5 FECS N (N ? THIZI 718 |
b)  What is meant by the fallacy of undistributed

major? Give an example.

SRYIT Y WIT IO I (ST 2 THIZIE WIS |



¢) If~p> (~qv~ r) is false, then determine the

truth value of the following:

(poa)=[(p-1) V(2]
d) Symbolize the following:
p if and only if q
fefie Rl aoRIEe I 8
P Tt @R @WE{ T q
e) What are the laws of thought?
o e B 2
f)  Give the logical form of the following:
FERMPrTe AT a3 I 8
i)  There are white tigers.
vl A9 SR |
i1)  There is no green swan.
TG AP (R

g)  What is meant by truth functional compound?
Give an example.

AEIo (N9 A0S | (AR 2 THIZAS WS |
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h)

i)

k)

)
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What is the fallacy of affirming consequent?
Give an example.

s RFIRES i1 2 Twigge e |

Give example of an exclusive sense of 'or'.

Q-9 QI PRI W7 Twrgze e |

What is logical equivalence? Give an example.

cﬁﬁwmwmam? THIZRE 718 |

What is meant by material implication?

@I &feiE e Jt @R 2

Give a valid substitution instance of an invalid

form of argument.
w13 Y& IR G0 (34 P {BIE 716 |

What is simple conversion? Give an example.

R SRS FICS 0 2 [BE 76 |

What is meant by distribution of a term?
I AT AT IS @2

What is a complementary term? Give an

example.

A7 I FIE A0 2 THIZI WIS |
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2. Answer any four questions: 5x4=2()

-0 srafd arya Teawe @

a)

b)
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Use Venn diagram to express the following:
fwfifRe 757 31 warerRefE (& b Mg
oM A1 8
i)  Ghosts exist.

O TR |
ii) All non-S are P.

A E-STWPI

Use truth table method to verify whether the
following propositional forms are tautologous,
self-contradictory or contingent.

farare AR @D 797 @b
yesfad, @D wefes ©f A o ez
2 Al 3t ¢

i) p>[p>(q.~q)]

i) p=[pv(poq)]

What is meant by existential fallacy? Explain
with an example,

Afewera (i aere A i ¢ BT ST
¥
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d)

Explain, briefly, different criteria for
appraising analogical argument.

FeT0e SAIE FERCR NAre el Gy I |
Explain the vindication of Mill's inductive
methods.

RteTa WRIE Aafewfra [pEre! At F |
Determine the truth value of the following
statement forms by truth table method:

TR afed A [ufade waeek

gD e et e

i) (p>q)=[(pva)=q]

ii) [(p>q).(a=>p)]=[(p-q)v(~P.~q)]

Answer any two questions: 10x2=20

Q- G A0 TeA e 8

a)
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Use the method of Venn diagram to test the
validity of the following arguments: 23 x4
oz Mo PR ReskE tare! fom
8
i) BRAMANTIP
ii) 1AI-2
iii) No enthymeme is complete.

So, this syllogism is incomplete.

(I TR 1R 75l 773 |

VCRINGER A
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b)
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v)

A straight line is never curved. Only
straight lines can be the sides of a
triangle. So, the sides of a triangle are

never curved.

HAEACAY FUA! AP T 7 | (FIA AL

fagre are 3o Ha|
o, faere ar 34 I 7 A1)

Translate the following arguments into standard
forms of syllogism and test the validity (by

applying general rules for syllogism): 2 ; x4

frefERe feofs o oo e gem
I OR TR S g e @ (FEw
ArgrRe s acms 33) ¢

i)
ii)
iii)

EAO-2

AOI-3

Circular triangles are plane figures.
Since circular triangles are three sided
figures and some three-sided figures are
plane figures.

Jorr fage el 59 | ez T geer
fage fomariRki® fba v @ @
ferarefafe foa zu srefers fog |

All worldly goods are changeable things,
for no worldly goods are things
immaterial and no material things are
changeable things,
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d)
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R E Rt ARTETE, T @
A2 7o =58 71 g2 @ T P
IEC R
What is a 'cause’ according to Mill? Discuss,
with an example, Mill's method of
Concomitant Variation. 4+6

fitea wte, I @@ & @R i W e
FoAfaada Hafel yBrer s 3

Use truth table method to test the validity of
the following arguments: 214

TR orafea A fFefafve ook tare
faora @z ¢

i) (CvD)>(C.D)
C.D
s Cv
ii) (GvH)>(G.H)
~(G.H)
. ~(GvH)
iii) Mv(N.~N)
M
o ~(N.~N)
v) EoG

GoE
~ E=G
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